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QUESTION 1

What is the maximum number of connections a normal Bluetooth device can handle at one time?
A2

B. 4

C.1

D.8

E.7

Correct Answer: E

QUESTION 2

You work as a Network Administrator for Net Perfect Inc. The company has a Linux-based network. You are configuring
an application server. An application named Report, which is owned by the root user, is placed on the server. This
application requires superuser permission to write to other files. All sales managers of the company will be using the
application. Which of the following steps will you take in order to enable the sales managers to run and use the Report
application?

A. Change the Report application to a SUID command.

B. Make the user accounts of all the sales managers the members of the root group.

C. Provide password of root user to all the sales managers. Ask each sales manager to run the application as the root
user.

D. As the application is owned by the root, no changes are required.

Correct Answer: A

QUESTION 3

What are the two actions the receiver of a PGP email message can perform that allows establishment of trust between
sender and receiver?

A. Decode the message by decrypting the asymmetric key with his private key, then using the asymmetric key to
decrypt the message.

B. Decode the message by decrypting the symmetric key with his private key, then using the symmetric key to decrypt
the message.

C. Decode the message by decrypting the symmetric key with his public key, then using the symmetric key to decrypt
the message.

D. Decrypt the message by encrypting the digital signature with his private key, then using the digital signature to
decrypt the message.
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Correct Answer: A

QUESTION 4

Regarding the UDP header below, what is the length in bytes of the UDP datagrarn?
04 1a 00 a1 00 55 db 51

A. 161

B. 81

C. 219

D. 85

Correct Answer: D

QUESTION 5

What would the following IP tables command do?
IP tables -I INPUT -s 99.23.45.1/32 - DROP

A. Drop all packets from the source address

B. Input all packers to the source address

C. Log all packets to or from the specified address
D. Drop all packets to the specified address

Correct Answer: A
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